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1 0JO000oooodgad
00 1.1. 00 ¢t) = («(¢),y(t)) 0000 D0 00O,

0 1.2. 000000O0OO:

() 00 r>000.000 ¢(t) = (rcost,rsint) 000000,
(2) y=f(z) 00D0O0. 000 ()= (¢, f(t) D0D0O0DO.

00 1.3. 00 ¢(t) = (2(t),y(t) 000000000 0000000 000O000:

() 00 ¢O0 (0ODOD)O0D00O,
(i) 000 ¢+ 0000, d(t) # (0,0).

000000,c0000 ¢(t):=(2/(¢),y/(t)) 000000000.0000,0000000
c(t) 0000, d(t)0 000000 000,

014. 000 120000000000,00D00D0A0:

(1) 00 »>0000,0000000.
(2) y=f(z) 00000, f000000000000,0000000.
(3) 000 y=|z/|0,00000000000.

00 1.5. 0000000 ¢(t) = (z(t),y(t)) 0000,00 k(+)0 00 000:

k(t) := det(c'(t), " (t)) /| ().
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O000000,det00000000O0OODOOCO. OOODOOOOOO,

o). (0) = et | 50 70 )~ 0n0) - " 00/ 0

00, |d(t)| 00000 ¢J(t)0000000. 0000,

0 1.6. 00 r>000 c¢(t) = (rcost,rsint) 0000, 000 k(t) =1/r.

00 1.7. 000000O:

(1) z-00000 00D0O00D0DOOD.

(2) 000 y=220000000000000.

(3) 00 22/a®+¢?/*=10000000000000000000000000. 000
a>b>0000.

2 J0b0ooboooooooo

o0 21. 00000000000000,0000000:

() DODoo0oDoOOoo0o0OO00O0O,000 —-10000.
(2) 000000O000,0000000 ¢(t)DOD0O0OOOOODO.
(3 000000, 000 10000000000DO0D0OD0ODOUOOUDOO.

000000,¢¢) 0000 100,000 ¢t0000 |/(4)=10000000. 00,00
00 ¢(t)0 0000000 000.

o0 22, 000000000000, 00000000000:

(1) 000 y=220000,¢t) 000000000000,

(2) 00 r>0000000,c¢t)000000000ODO0.

(3) 00 r>00000000 y=+r2—22000000000 ¢ 0000,00000
oo.

(4) 00 »>0000000, ¢(t) = (reos(t/r),rsin(t/r)) 0000, 0000000 100
0,00000000000000000000000000000CO.
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